‘ PO Box 2620

Ballston Spa, NY 12020
Ph : 518 885-0060

Vermont Agency of Transportation
SCHULTE RECEIVED

| Letter of Transmittal I ON:  May 6, 2015

and Checked for

Transmittal #: 16 CONFORMANCE

BY: Jennifer Fitch DATE: 05/19/2015

To: Chris Williams
VTRANS Date: 5/6/2015
61 VALLEY VIEW Job: M117 VTRANS CASTLETON BRF 015-2(10)
MENDON, VT 05701
Ph: (802)786-3812 Fax: (802)786-3810

Subject: Submittal

WE ARE SENDING YOU 7 Attached 7 Under separate cover via the following items:
Vv Shop drawings [7 Prints I” Plans [ Samples
"' Copy of letter I Change order "I Specifications I Other

Document Type Copies Date No. Description

Submittal 1 525.33-12 Rev 0 | Guardrail

THESE ARE TRANSMITTED as checked below:

¥ For approval ™ Approved as submitted [” Resubmit ___ copies for approval
¥ Foryour use I~ Approved as noted I~ Submit ___ copies for distribution
M As requested " Returned for corrections I" Return ___ corrected prints

v For review and comment [~ Other

7 FOR BIDS DUE [T PRINTS RETURNED AFTER LOAN TO US

Remarks: Pleasse see attached Bridge and Approach Rail for your approval from our sub Lafayette

Copy To:  Jennifer Fitch (VTRANS), KEVIN TURE (W.M. SCHULTZ CONSTRUCTION)

SHOP DRAWING REVIEW

[0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ REJECTED X REVISE AND RESUBMIT ] FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIRMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

" 40 IDX Drive ob Number: BRF 015-2(10)
! Building 100, Suite 200 )
ﬁVhb South Burlington, VT 05403 Reviewed By: S: Famsworth
802.497.6100 Date: May 15, 2015

From: MIKE GARN (W.M. SCHULTZ CONSTRUCTION Signature: fx//:{// gﬁ/““/k’”

If enclosures are not as noted, kindly notify us at once. Page 1 of 1


elawes
Group

elawes
Line

elawes
Line

elawes
Text Box
BRF 015-2(10)

elawes
Text Box
S. Farnsworth

elawes
Text Box
May 15, 2015

jfitch
CheckForConformanceFields


PO Box 2620
Ballston Spa, NY 12020
Ph : 518 885-0060

SCHULTZ

| Submittal I

Job: M117 Spec Section No: 525.33
VTRANS CASTLETON BRF 015-2(10) Submittal No: 12
Castleton BRF 015-2 Revision No: 0

Route 30 Sent Date: 5/6/2015
Castleton, VT

Spec Section Title:

Submittal Title: Guardrail
Contractor: Contractor's Stamp
W.M. Schultz Construction, Inc
SCHULTZ CONSTRUCTION, INC.

CONTRACTNO. —_BRE OIS -Z

SUBMITTAL TITLE ___(ryavrd 0a)')

ITEM & SECT.NO. 525.5% A &2l.72
LOCATION OF WORK —_\[T [RT 30

Vermont Agency of Transportation SUEB NO. | Z DATE _ < /LS

RECEIVED REVIEWED BY (o

ON: May 6, 2015
VTRANS and Checked for Architect's Stamp

Chris Williams CONFORMANCE

BY: Jennifer Fitch DATE: 05/19/2015

SHOP DRAWING REVIEW

[0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ REJECTED X REVISE AND RESUBMIT ] FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIRMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

40 IDX Drive ob Number: BRF 015-2(10)
Building 100, Suite 200

)
’ i . .
%Vhb South Burlington, VT 05403 Reviewed By: S. Farmsworth

£02.497.6100 Date: May 15, 2015



elawes
Group

elawes
Line

elawes
Line

elawes
Text Box
BRF 015-2(10)

elawes
Text Box
S. Farnsworth

elawes
Text Box
May 15, 2015

jfitch
CheckForConformanceFields


LIMITS GUARDRAIL
APPROACH SECTION

Standard S-360A
minimum distance
to post 1'-6"

The length of rail along the slope C1+C2 + C2 + C3
+ 3 splice joint gaps of 1/2" should = 70" - 1 3/4".
Therefore increased C3.

Bridge Railing pay LImits

C2

the Curb. The 4" splice gap is within the
Approach Section Guardrail limits.

are to the End of

GALVANIZED 2 RAIL
BOX BEAM (S360B) 22'-2 1/2" 22'=2 1/2 =5
(typical BOTH ENDS) ——
—le—1/2" SPLICE JOINT BOTH ENDS (typ)
—— ] - - - : - - - - ; A —
T [ L1 11 [ L1 11 11 |1 [ 1 |“I e
___— —1 oo I o0 O e [ e e e T 0 IE"TT_
gl | AL L0 iR L0 10 10 10 10 L0 A1 i
1
I} 1'-8 1/8" 1"-8 1/8" L
L g 51°=11" = LIMITS OF SNOW BARRIER 16"
3'-5 1/8" (9) SPACES @ 7'-5" = 66'-9" 3'-2 1/8"

140.28 LF

70'- 1 3/4" :

2 = LIMITS ITEM 525.33 BRIDGE RAILING GALVANIZED 2 RAIL BOX BEAM

Edit C1 and C3 lengths

TYPICAL RAILING ELEVATION

70'- 1 1/4" is the length between b

BILL /OF MATERIAL
aly mk Dederiplion Spec. Vermont Agency of Transportation SHOP DRAWING REVIEW
141 LF ITEM 525.33 BRIDGE RAILING GAL\A(\NIZED 2 RAIL BOXBEAM Freemm——"
-~ \ REC E IVE D O REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
20 BRIDGE RAILING POSTW6 x 25 x 2'3@,375" OAH WITH 1 x 10 x 14 BASE PLATE (GLV) A709 gr 50 CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
ON: M ay 6 20 1 5 REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.
1)
6 SPLICE TUBE (FOR 8X4 RAIL) HSS 7 x 3% 3/8 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) A500 grB and Checked for [ REJECTED X REVISE AND RESUBMIT O FURNISH AS CORRECTED
6 SPLICE TUBE (FOR 4X4 RAIL) HSS 3x 3x\y/16 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) A0 orB CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
C O N F O R MAN C E FROM COMPLIANCE WITH REQUIRMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW

2 C1 UPPER RAIL TUBE HSS 8 X4 X 5/16 ),(15'—0.750" AL (1 end fix splice, 1 end exp splice) AS500 gr B . ) ) . OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE

4 C2  |UPPER RAIL TUBE HSS 8 X4 X 5/16 X=2222)501r OAL (fix splice both ends) A500 gr B BY: Jennifer Fitch DATE: 05/19/2015 INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND

2 Cc3 UPPER RAIL TUBE HSS 8 X4 X5/16 )‘ 10'-5.000" éAL (1 end fix splice 1 end exp splice) A500 gr B CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF

o : CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
e e SAFE AND SATISFACTORY MANNER.

2 C1  |LOWERRAIL TUBE HSS 4 X4 X 1/4 % 15-0.750"DAL (1 end fix splice, 1 end exp splice) A500 gr B

4 C2  [LOWERRAIL TUBE HSS 4 X4 X 1/4 X222 500" OAL (fix splice both ends) A500 gr B - 40_:2_" Drive. ob Number: BRF 015-2(10)

2 C3  [LOWERRAIL TUBE HSS 4 X4 X 1/4 X, 10-5.000" @AL (1 end fix splice, 1 end exp splice A500 gr B Nyl Hullding. 100, Suite 200 . )

m BAL ( p p splice) g g'vhb South Burlington, VT 05403 Reviewed By; S- Farnsworth
802.497.6100 - May 15, 2015

20 ANCHOR SPACER PLATE PL 0.375 x 13.000 x 9.375 A709 gr 36 P

80 ANCHOR STUD DBL END PART THREAD - 1" DIA x 12.000 w/ 2.250" THD EACH END (GLV) Ad49
160 HEAVY HEX NUT 1" (GLV) A563 DH —

80 ROUND WASHER (SAE) - 1" DIA SMALL (GLV) F436 ; HIGHWAY SAFETY CORP

v GLASTONBURY, CT
80 JAM NUT 1" (GALV) A563 DH rd B60-633-9445
TEN 525,33 BRIDGE RAILING, GALVANIZED 2 RAIL BOX BEAU (S-360A)
80 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 6" LG. FULL BODY (GLV) A449 | A325 MM 621.72 GUARORAL APPROACH SECTION, CALVANIZED 2 RAL BOK BEAU (5-3608) E(F:::B%IT(!;{%E
" BRF 015-2(10)

80 LOCK NUT 3/4" (GLV) A563 DH T RODTE @0 — BRIDGE 55

80 ROUND WASHER (SAE) 3/4" (GLV) F436 TOWN OF CASTLETON, RUTLAND COUNTY VT [

48 HEX HEAD BOLT 5/8" DIA x 1.75" LG. (GLV) A325 e MZW 043
48 ROUND WASHER (SAE) 5/8" (GLV) F436 0 | inifial submitial 5 /’b [l R ™ LAFAYETTE l 1 of 4
20 BEARING PAD 0.125" THICK x 10.000 x 14.000 (NEOPRENE 80 duro +/-10) aashto M251 No. RI:SIT;:(;NS Ddfe - |cumm1{ ﬂ |mn: 05—05_15'suw - ‘su: b

LOOKING AT FACE OF RAILING FROM CENTERLINE OF ROAD

BOTH._SID PI(

eginning of bridge curb and end of bridge curb. The Bridge Railing Pay Limits is based on the

slope length 70'- 1 3/4" between beginning of bridge curb and end of bridge curb.



sfarnsworth
Line

sfarnsworth
Text Box
15'-0"

sfarnsworth
Callout
Standard S-360A minimum distance to post 1'-6" 

sfarnsworth
Line

sfarnsworth
Text Box
10'- 7 1/4"

sfarnsworth
Line

sfarnsworth
Line

sfarnsworth
Text Box
Bridge Railing pay Llmits are to the End of the Curb. The 4" splice gap is within the Approach Section Guardrail limits.

sfarnsworth
Text Box
The length of rail along the slope  C1 + C2 + C2 + C3 + 3 splice joint gaps of 1/2" should = 70' - 1 3/4". Therefore increased  C3.

sfarnsworth
Line

sfarnsworth
Text Box
70'- 1 1/4" is the length between beginning of bridge curb and end of bridge curb.  The Bridge Railing Pay Limits is based on the slope length 70'- 1 3/4" between beginning of bridge curb and end of bridge curb.

sfarnsworth
Text Box
70' - 1 3/4"

sfarnsworth
Line

sfarnsworth
Line

sfarnsworth
Polygon

sfarnsworth
Text Box
140.28 LF

sfarnsworth
Line

sfarnsworth
Polygon

sfarnsworth
Polygon

sfarnsworth
Polygon

sfarnsworth
Polygon

sfarnsworth
Text Box
Edit C1 and C3 lengths

sfarnsworth
Line

elawes
Group

elawes
Line

elawes
Line

elawes
Text Box
BRF 015-2(10)

elawes
Text Box
S. Farnsworth

elawes
Text Box
May 15, 2015

jfitch
CheckForConformanceFields


¢ RAIL TUBE SPLICE OR

8'—0" MAX.

|
RAIL EXPANSION JOINT |
|

I

—_—]

32
o
=
o
{ <
Q
=
x

1'—=6" MIN.
wn
~N
6:000 —0.375 o
—
MH}H@ _______ 3 +
I 0.125 SLOT
1.750
MIN. THREAD

3/4” DIA. A449
ROUND HEAD BOLT

BRIDGE RAILING

CONSTRUCTION JOINT-

ELEVATION

©

Vermont Agency of Transportation

RECEIVED

ON:

CONFORMANCE

BY: Jennifer Fitch DATE: 05/19/2015 .

(WITH WASHER AND PREVAILING TORQUE TYPE LOCK NUT)

(SEE NOTE #8)

ONLY FULL DIAMETER BODY BOLTS WILL BE ALLOWED.

/—S.OOO¢ HOLE

13.000
6.500
(Tvp)
I
B | © ' @
©lE
<= 4
~ ~
S e M| M
[(e} (o))
3/8" THICK pLATE_~" |
99 ®
1.062¢ HOLES/ 10.000
(4) TYP.

ANCHOR PLATE

TOP SPLICE TUBE

PRy
HSS 3 x 3 x 5/16
- BOTTOM SPLICE TUBE

I‘HSS7X3X3/8

3"

RAIL TUBE SPLICE SECTION

2.250 THREAD
(TYP) BOTH ENDS

May 6, 2015
and Checked for

HEAVY HEX NUT
AND WASHER (TYP)

_‘
= =300

3.000

-

12.000

o fas

1
A

|

i

— f (TYP.)

¢ 1" DIA

THREADED
STUDS

RAIL POST ANCHORAGE

’
| — NUT (OUTER

1 —— TACK WELD
NUT

5/8"¢ TAPPED HOLE IN SPLICE TUBE &
3/4"¢ HOLE IN RAIL TUBE FOR BOLT &
PLAIN HARDENED WASHER

FIXED SPLICE JOINT SECTION

HOLES ONLY)

HEX JAMB NUT

HEAVY HEX NUT

!
i
| I 14.000
10.000
| | § O == O ° RAIL POST 1
0 2 S
1.2508 HOLES I ]
(4) TYPY—\\e == @ ©| 2 7/16
126" MIN | 7.000 \ BASE WELD DETAIL
1" PLATE
POST AND BASE PLATE
RAIL TUBES

75"

W6x25
¥
(Tl \
1" BASE —
PLATE _\

1/8" PAD—|—
\/

TYPICAL SECTION

3/8" ANCHOR PLATE

(TYp)

1'—8" SPLICE TUBE

'Ae"® HOLE IN POST
FOR RAIL ATTACHMENT

HSS 8 x 4 x 5/16 (TOP)
HSS 4 x 4 x 1/4 (BOTTOM)

(4) TYP. =
ke %
/f o1y } S
1%s" HOLE FOR =
REFLECTOR . 2
ATTACHMENT O

ELEVATION

4" 2" 1/2"% DRAIN HOLE

NS

NOTES:

1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525.

2. PRIOR TO GALVANIZING, ALL EXPOSED CUT OR SHEARED EDGES SHALL BE

ROUNDED TO A 1/16"” RADIUS AND BE FREE OF BURRS.

3. ALL POSTS SHALL BE SET NORMAL TO GRADE.

4, SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO (2) RAIL

POSTS AND PREFERABLY TO AT LEAST FOUR (4) POSTS.

5. RAIL TUBE EXPANSION JOINT SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE
END OF AN INTEGRAL ABUTMENT BRIDGE AND AT ALL SUPERSTRUCTURE EXPANSION
JOINTS. EXPANSION JOINT WIDTH SHALL BE 4" AT 45°F AND WILL BE ADJUSTED IN

THE FIELD BY THE ENGINEER FOR OTHER TEMPERATURES.

6. HOLES IN RAILS FOR RAIL TUBE ATTACHMENT SHALL BE FIELD—DRILLED. HOLES
SHALL BE COATED WITH AND APPROVED ZINC—RICH PAINT DURING INSTALLATION.

7. RAIL POST ANCHORING NUTS SHALL BE TIGHTENED TO A SNUG FIT AND GIVEN AN

ADDITIONAL ONE—EIGHTH TURN.

8. RAIL TUBES SHALL BE ATTACHED USING 3/4" FULL DIAMETER BODY ASTM A449
ROUND HEAD BOLTS INSERTED THROUGH THE FACE OF THE TUBE. HOLES IN POSTS

SHALL BE 1/16" LARGER THAN THE BOLT SIZE.

9. ANY BENDING OR CURVING OF RAIL SHALL BE DONE IN A FABRICATION PLANT IN

ACCORDANCE WITH SUBMITTED PROCEDURES.

10. THE MINIMUM DISTANCE FROM A POST TO AN EXPANSION JOINT SHALL BE SUCH
TO MAINTAIN MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END
OF THE SLAB, OR TO THE EXPANSION JOINT RECESS POUR, IF ONE IS USED.

11. A DELINEATOR (SEE VAOT STANDARD DRAWING G—1 FOR DETAILS) SHALL BE
INSTALLED AT NEAREST POST TO 30 FT SPACING. WHITE IS TO BE INSTALLED ON THE
DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ON THE

DRIVER'S LEFT. PAYMENT SHALL BE INCIDENTAL TO OTHER ITEMS.

12. THIS RAILING MEETS THE REQURIEMENTS FOR A TL—4 SERVICE LEVEL.

MATERIALS
RAIL TUBE!
RAIL POSTS AND BASE PLATES.
ALL OTHER SHAPES AND PLATES..
ANCHOR STUDS..
ALL OTHER BOLTS (UNLESS NOTED)

NUTS FOR AASHTO M164 BOLTS AND FOR ANCHOR STUDS SHALL COMPLY WITH

AASTHO M291 (ASTM A563).
WASHERS SHALL COMPLY WITH AASHTO M293 (ASTM F436) SPECIFCATIONS.

1/8" PAD SHALL COMPLY WITH STANDARD SPECIFICATION SUBSECTION 731.01 OR

731.02.

RAIL POSTS AND BASE PLATES SHALL BE TESTED FOR IMPACT PROPERTIES IN
ACCORDANCE WITH ASTM A370 CHARPY IMPACT TESTING USING TYPE A SPECIMEN.

"

1'—11; EXP SPLICE TUBE

1n 10 L o3n
5 5 4 2

3/4"¢ HOLE
FOR 5/8 x 1—3/4" H

NUT (OUTER
HOLES ONLY)

T LTI ZZ 2T

TACK—-WELD
NUT

DN 3/4"¢ x 1/2" LONG
SCH. 40 STEEL PIPE SPACE

5/8"¢ TAPPED HOLE IN SPLICE TUBE
AND 1 1/8" x 'C’ SLOT IN RAIL TUBE FOR-
BOLT AND PLAIN HARDENED WASHER

RmnTETEe

EXPANSION JOINT SECTION

SHOP DRAWING REVIEW

4" EXP JOINT

[] REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.
] REJECTED

X REVISE AND RESUBMIT

[J FURNISH AS CORRECTED

5ION SPLICE DETAIL
BOTTOM VIEW

...ASTM A500 GRADE B OR ASTM AS501
AASTM A709/A709M, GRADE 50

o éTM A709/A709M, GARDE 36
ASTM A449

...AASHTO M164, TYPE1

1
\1/2"0) DRAIN HOLE

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIRMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

GLASTONBURY, CT
860-633—-9445

HIGHWAY SAFETY CORP

ITEM 525.33 BRIDGE RAILING, GALVANIZED 2 RAIL BOX BEAM (S-360A)

T

<{hb

40 IDX Drive

Building 100, Suite 200
South Burlington, VT 05403
802.497.6100

ob Number. BRF 015-2(10)
Reviewed By: S- Farnsworth

Date: May 15, 2015

ITEM 62172 CUARDRAL APPROACH SECTION, GALYANIZED 2 RAL BOK BEAU (-3608) )g CERTIFIED
BRF 015-2(10) < FABRICATOR
VT ROUTE 30 — BRIDGE 93
TOWN OF CASTLETON, RUTLAND COUNTY VT [me e e
e 2043
[sEermo. |
sUa
LAFAYETTE | 2 of 4
DRAWN. CHECKED DATE ScALE szt
PAR 05—05—15| NONE l D



elawes
Group

elawes
Line

elawes
Line

elawes
Text Box
BRF 015-2(10)

elawes
Text Box
S. Farnsworth

elawes
Text Box
May 15, 2015

jfitch
CheckForConformanceFields


NOTES:
1. PAYMENT FOR GUARDRAIL APPROACH SECTION — GALVANIZED 2 RAIL, SHALL
BRIDGE: RAIL LIMITS PAY LIMITS BRIDGE APPROACH SECTION 2 RAIL = 29'-1" :JP\L(;I}%DER;EE PngTthABLLngFsNi%rgFXTTT:(:EHSQSTNEHC;\TA%HJAELENE' THE DEFLECTOR ‘
. RAL, i y WARE. |
DRILL & TAP HOLE
IN ONE_FACE OF TUBE 2. ALL APPROACH RAIL SPLICES SHALL BE LAPPED IN THE DIRECTION OF TRAFFIC |
FOR SET SCREW 10 WOOD POSTS FLOW. o
I W6 x 25 POSTS x 8'-0" LONG Il VWP1 | MK—WP2 MK—VWP3 3. TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL BE
e l ' ' THE SAME AS THOSE OF THE BRIDGE RAIL UNLESS OTHERWISE NOTED.
POST #1 POST #2 POST #3 POST #4 4. APPROACH RAIL BOLTS SHALL BE ASTM A307 GRADE A AND NUTS SHALL BE
AASHTO M291 (ASTM 563 GRADE A OR BETTER (GALVANIZED)A WASHERS SHALL BE
I 4 ASTM F844.
B ] w82 WB3 )
E 5. WELD TOP SPLICE BAR TO FIT BEND. USE COMPLETE PENETRATION WELD
‘°| P (8-U2).
\ \ END CAPS (GALVANIZED)
TOP AND BOTTOM RAIL
FACE OF CURB FACE OF RAIL FIXED WITH SET SCREW PLAN VIEW
TERMINAL CONNECTOR
23.750 OAL
SHOWN STRAIGHT
SEE SHEET 4 FOR CURVED PLAN VIEW AT SW APPROACH VLA /"J7_<‘<T .
o
8 ]
S [=}
=
3'-0"+ 3 SPACES @ 2'-2" = 6'-6" 1 2'-4" DOUBLE NESTED 12 GAGE THRIE BEAM (12'-6") 6'—3" TRANSITION SECTION W—BEAM GUARDRAIL 12 GAGE (ROADWAY ITEM)
‘ (W—BEAM TO THRIE BEAM) (10 GAGE) (6'-3" POST SPACING TYPICAL)
CL SPLICE
6 SPACES @ 1'-6]" = 9'—4}" 3-1}" 31y ) 3-1}" 6_3" _{ 0.062
1-6% 3" | 164 3 /5 t BEVEL o
y A !
LAP_SECTIONS |
' | N/ TN DRRECTION OF TRAFFIC ANGLED SPLICE DETAIL
l 5 %" (l)’p-) 1'—6" | TERMINAL CONNECTOR HSS 7 x 3 x 3/8 — FOR UPPER RAIL SPLICE
' I 1\‘ 41“ ] - & SEE BRIDGE RAIL SHEET FOR DETAIL ON LOWER RAIL SPLICE TUBE
o i 1 el CH o) T = = S ]
L o 1 s RIS ) (e N N A N A 6 S HEE- = i
b ' ' ' N AN 4 [ S KRR RN - =4 =
S ool 1 T iojo 5o /o ofeil[*c & 1 [P 1] 1= =% = = = = SLAS P oo
& i et | T | . Haw = r - -1 i 3
GAP | ! [ ! I |
! :
T - T | |
CL LAST—— / AN ) i
BROGE POST | oerLecToR PLATE— /BN =% Vermont Agency of Transportation 4.000
i 0.125 x 1.000 x 1.000 T8 4.000
N RECEIVED e A
APPROACH RAIL ELEVATION T g =+ )
] ! (typ) Sl 8 J—v
LEADING END (RIGHT) IS SHOWN (TYP AT NW & SE QUADRANT) ON: May 6, 2015 & 8l i S 3 '—Jj% o ‘
(=} e .
DEPARTURE END (LEFT) SIMILAR BUT OPPPOSITE HAND (TYP AT NE & SW QUADRANT) ! = ! gf%’ém% g&s . IN ONE TAB ONLY 0.187 |
and Checked for L . 1/2° DA x . THICK ;
6" x 8" WOOD _] 1/2" SOCKET SET SCREW PLATE !
. . 0.062 HEX_ SOCKET DRNE, i
. ORFSET BLOCK 1/2 DA x 0.187 N0 HEAD, CUP PONT :
6" x 8" WOOD POST \ 1/2" SOCKET SET SCREW THICK i
8" = . ) “HEX ORIE,
_ , BY: Jennifer Fitch DATE: 05/19/2015 o #o, o ot PLATE END CAP  (4x4)
0.187 x 4.000 x 4.000 (A7DQ gr 36)
B 3 “.’ .00, 8.000 12.750 32 END CAP (8)(4)
il b 4000, 4000 f 2'-6" 0.187 x 4.000 x 8.000 (A709 gr 36)
g e ——T
17™ o
i 1.000 CHAMFER—| [ L S
VARIES 4 3/4 x 2-1/2" SLOTIED HOLES\ g 1/2" 8 2 3.500
— © o (2) LOCATIONS AS SHOMN 1" x 2" DIAGONAL 0 CTR'D
5 PROACH @ S 1’6 HOLES (9) SLOTTED HOLES
i APRROACH CURE 8 T—1© e e e |o LOCATIONS  (typ) 4
~ (IF REQUIRED) 2 ) = - 4 (12) LOCATIONS (typ) ol
E —0 Q 8 E BEND LINE (%" RADIUS; GRIND EDGES ) -
of = T T T T T/ 171 q 0 OF PLATE NEAR BEND LINE BEFORE BENDING
Ao d - J = S o DY | & 2 : STEEL POST CHART
] " e =3 . S %
VASHER, DBL RECESSED e © ° 2 w| © o IN 1998 & Y375
HEX NUT & ROUND WASHER o S Sl s |e o e = 0.375 THICK PLATE (CALVANIZED) SLOTTED HOLES No. L
= = s [ K .
gl 7 e > #1 | 1-3.250"
\_ L <l o b 6.500 | 4.000 2000 1,437
~—ls'000 1.0008 HOLE (8) ~ 0.7508 HOLES (2) s |e o e T J— E 1'-3.000"
LOCATIONS (typ) ~ LOCATIONS ONLY &l ( 53 S s ) h | o W6x25 POST #2 -
o v .
1 2 2| < ® 3 | 1'-2.687"
SECTION A-A CONNECTION PLATE ol Z S 457 50 SLGTTED HOIE #
0.375 x 20.000 x 27.000 (A709 gr 36) = @ & 1'-0 3/4" 3" #4 | 1'-2.375"
2'-6"
e e TERMINAL CONNECTO SHOP DRAWING REVIEW
%" ROUND SLOTTED BUTTON HEAD - 10 GAUGE (AASHTO M180 B2)
HEAD BOLT x 6" LG. SPLICE BOLT (20) TYP.
CONNECTION WITH HEX NUT (2%) " [ REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
2" x 18" EARY
PLATE 27 f&é’f‘f&;‘ﬁoﬁé . SLOTTED” HOLES CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND STEEL POST
TERMINAL : | (R ;' (o) LOGKTIONS (0 _ye 4. REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.
n )
CONNECTOR - - o[ o l | : 6,000 [ REJECTED X REVISE AND RESUBMIT [J FURNISH AS CORRECTED
R .
2 ' B HIGHWAY SAFETY CORP
¢ Y 1'__3' & 1o : o CL ol e CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR GLASTONBURY. CT R
= - ! L 1 3
. = = e e oo gl 1 FROM COMPLIANCE WITH REQUIRMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW —633-9445
%" ROUND HEAD W s I o 8 860
. ] 8
BoLT x 2" LoNG b:, e S = : 3 OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE Tl 525,35 GROGE RALIG, GAVANZED 2 RAL 00K DEAL (5-3608) <
&5 [ ler] I —LL 4 INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND TTEM 621,72 CUARDRALL APPROACH SECTION, GALVANTZED 2 RAIL BOX BEAY (S-3608) )m ?Eﬁgﬂ%g
B 20 3 "% =
DEFLECTOR PLATE B =} = _ql | - CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF BRF 015-2(10) =
P 2 2 -
" ; i WB1 CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A VT ROUTE 30 — BRIDGE 93
7'—3l" TIMBER BLOCK TOWN OF CASTLETON, RUTLAND COUNTY VT  [HsC X5 Ko
33 TIMBER: BLogH SAFE AND SATISFACTORY MANNER. -l 2043 |
[sweer 0. |
THRIE TRANSITION PANEL o 40_'D_x Drive . ob Number: BRF 015-2(10) e LAFAYETTE 3 of 4
SECTION B-B 10 GAUGE (AASHTO M180 B2) ———t Building 100, Suite 200 - 4 S. Famsworth T [ L lsw - |g,r o
= South Burlington, VT 05403 eviewed By: = TS

vhb

802.497.6100

Date: May 15, 2015



elawes
Group

elawes
Line

elawes
Line

elawes
Text Box
BRF 015-2(10)

elawes
Text Box
S. Farnsworth

elawes
Text Box
May 15, 2015

jfitch
CheckForConformanceFields


\m{ggmgmﬁgency of Transportation

RECEIVED

ON:

CONFORMANCE

BY: Jennifer Fitch DATE: 05/19/2015

May 6, 2015
and Checked for

dHHd.s

I ¥

BILL OF MATERIAL
TANGENT
Qty mk Description Spec.
4 EA ITEM 621.72 GUARDRAIL APPROACH SECTION 2 RAIL GALVANIZED BOX BEAM
4 01 W6x25 APPROACH POST-#1 x 8-0" OAL (GALV) A709 gr 50 PLAN VIEW
4 02 W6x25 APPROACH POST - #2 x 80 OAL (GALV) A709 gr 50 SOUTHWEST CORNER
4 03 W6x25 APPROACH POST - #3 x 8-0" OAL (GALY) A709 gr 50 SEE SHEET 3 FOR ADDITIOANAL TYPICAL APPROACH DETAILS & DIMENSIONS
4 04 W6x25 APPROACH POST-#4 x 8-0" OAL (GALV) AT709 gr 50
4 UPPER RAIL APPROACH TUBE HSS 8 x 4 x 5/16 x 94.000" w/ 3.500 SLOTS FOR 4" EXP GAP (GALV) A500 gr B
4 LOWER RAIL APPROACH TUBE HSS 4 x 4 x 5/16 x 9-4.000" w/ 3.500 SLOTS FOR 4" EXP GAP (GALV) A500 gr B
4 CONNECTION PLATE PL 0.375" x 20.000" x 27.000" (GALV) A709 gr 36
2 DEFLECTOR PLATE (RIGHT) PL 0.375 x 4.000 x 13.375 (GALV) AT709 gr 36
2 DEFLECTOR PLATE (LEFT) PL 0.375 x 4.000 x 13.375 (GALV) A709 gr 36
4 END CAP FOR 8x4 TUBE 0.187 THICK PLATE 8.000 x 4.000 w/ WELDED TABS (GALV) AT709 gr 36
4 END CAP FOR 4x4 TUBE 0.187 THICK PLATE 4.000 x 4.000 w/ WELDED TABS (GALV) AT709 gr 36
4 (ANGLED) SPLICE TUBE (EXPANSION) FOR 8x4 UPPER RAIL HSS 7 x 3 x 3/8 x 1-11.750" OAL (GALV) A500 gr B
4 SPLICE TUBE (EXPANSION) FOR 4x4 LOWER RAIL HSS 3 x 3x 5/16 x 1-11.750" OAL (GALV) A500 gr B
32 WOOD POST (WP1) 6 x 8 x 7-0" TIMBER
32 WOOD BLOCKOUT (WB1) 6 x 8 x 16" TIMBER
4 WOOD POST (WP2) 6x 8x 7-0" TIMBER SHOP DRAWING REVIEW
4 WOOD BLOCKOUT (WB2)6 x 8 x 16" TIMBER
4 WOOD POST( WP3) 6 x 8 x 70" TMBER O REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
4 WOOD BLOCKOUT (WB3) 6 x 8 x 1-2" TMBER CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.
4 THRIE FLAT LIP BRIDGE SHOE (MODIFIED) 10 GA. GALY aashto M180 B2 iy T VS S s 3 PN KRR
4 THRIE TRANSITION PANEL 6-3" / 3-1 1/2" 10 GA. GALV. aashto M180 B2 CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
6 THRIE PANEL 126"/ 16 3/4" 12 GA. GALV. aashto M180 A2 FROM COMPLIANCE WITH REQUIRMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
2 THRIE PANEL 126" / 1'6 3/4" 12 GA. GALV. (PARTIAL RADIUS 9'4 1/2" @ 16' R CONVEX aashto M180 A2 OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
) INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND H I G H WAY SA F ETY C O R P
= = CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF GLASTONBURY, CT
92 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 6" LG. (GLV) w/ LOCK NUT & FLAT WASHER A449 TR0 COBBCRGENS Il WO WATH TRAT F ALk OTHIN TRASES; AN IENORMNSNE M MONE 1. B60—633-9445
4 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 2" LG. (GLV) w/ HEXNUT Ad49 SAFE AND SATISFACTORY MANNER. MEM 52535 GRIDGE RALNG, GALVANZED 2 RAL BOX BEA (S-3608) N
8 ROUND HEAD POSTBOLT - oval shoulder 5/8" DIA x 1-8" LG. (GALV) w/ DBL RECESS NUT, FLAT WASHER A307 - TTEM 621.72 GUARDRAL APPROACH SECTION, GALVANTZED 2 RAIL BOX BEA (S-3608) )g FABT?]C ATOR
68 ROUND HEAD POST BOLT - oval shoulder 5/8" DIA x 1-6" LG. (GALV) w/ DBL RECESS NUT, FLAT WASHER A307 o ;‘0_:‘;_" D ob Number: BRF 015-2(10) e
32 HEXHEAD BOLT 5/8 x 1-3/4" (GALV) w/ FLAT WASHER A325 =y b e L e T Reviewed By: S. Farnsworth TOWN OF CASTLETON, RUTLAND COUNTY VT [meerie
128 PANEL SPLICE BOLT 5/8 x 1-1/4" (GALV) w/ DOUBLE RECESSED NUT A307 v o R o 2045
76 RECTANGULAR PLATE WASHER 0.187 x 1.750 x 3.000 (GALV) A709 gr 36 — BRI e " LAFAYETTE 4 of 4
32 SPACER PIPE - GALVANIZED 3/4" SCH. 40 x 1/2" LONG (GLV) A53 grB | CUe S W 50515 |sw NONE |m D



elawes
Group

elawes
Line

elawes
Line

elawes
Text Box
BRF 015-2(10)

elawes
Text Box
S. Farnsworth

elawes
Text Box
May 15, 2015

jfitch
CheckForConformanceFields


